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        1−   1 3− = −∞  

1 2− = − + ∞   :     

1 1
1

− −
−= ∈ ∈   

13 2 3 1−= ≤ ≠ = ≤ ≠   

1 3 1− = −∞ −   

     1−  2 2− + ∞ −   .

                   

       :  

2 2 1 3∈ − + ∞ − ∈ −   

   1−  1 3−   2     2  

3     .    

   ) 1-  :  54  66  69(

----------------------------------------------       

29- »2«) (

        :  

1 15 1 2 2 4− + = +   

             

5 1 2= − +   1 1
2 4= +    .

       .     

15 3 5
15 1 5

− + ≤
=

+ ≥
   

      5 3= − +  5 1= +    

     =         .   

      1 1
2 4= +    :     

  
         3       .

22 0 3  3 0 48   .         

   ) 1-  :      80  85(

----------------------------------------------       

30- »3«) (

        :    

2 2 2
25 43+ + =   

  :       

2 2 2 2 2
5 16 3 164 53 5 5 5= − = =   

2
16 3 3
5 5 5162 5= =   

 
3
516

5   3    .   2        

3 35 15 10
55 55 52 2 2 323 2 32 210 1000 1000

×
= = = > =   

     2 3         2  .  

   ) 1-  :      86  90(
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31- »4«) (

    ′               .
3′ = =                

  3′= =   .  

  
           :  

22 2 2 2 2 23 8= − = − =   
22 2 4 2×⎯⎯⎯→ = ⎯⎯→ =nm]   

   ) 3-     :  54  56(
----------------------------------------------     

32- »1«) (

        3 3
4 2 8= − =

×
        .

        :     32 4= =   

  
  :       3 34 4 8 2= = × =   

1 1 3 3 9
2 2 4 2 16Δ = = × × =   

   ) 3-  :      54  56(
----------------------------------------------     

33- »2«) (
      :  7= =   

  

      :     .      

99= =   
       :       

9 14 9 819 14= = = +
+

   

81 16 25= = =    

   ) 3-   :    58(
----------------------------------------------     

34- »4«)  (
   0 1      3 4 3− =   

   .               
  )           .   (

3 4 3− =       .    

  

        4 3
3
+=     

    :  

32 24 34 3 16 12 03
×+= ⎯⎯→ − − =   

6
6 3 2 0 2

3

=
− + =

= −
   

             6=   2
3= − 

 .  
   ) 3-  :      56  57(

----------------------------------------------     

35- »4«) (

      2 0+ + + =   .
              :   

2

2

2

1 1 2 0 1 2 0
3 3 3 0 9 3 3 0
3 3 6 0 9 3 6 0

+ + + = + + + =

+ + + = + + + =

− + − + + = − + + =
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    2= −  4= −  9=      .

       2 2 4 9 0− − + =     

  :  4 14
−= =   

               

2 2=   .   

   ) 3-  :      54  56(

----------------------------------------------     

36- »3«) (

2 24 8 4 8+ = + − = −   

2 22 4 8 2 8 4− − = − − = − +   

2 42 8 8
−− = +   

                   

  4 28
−   4 8=   2=  .  

  
4 42 1 1 128 8

− −− = − = =   

   ) 3-  :      54  56(

----------------------------------------------     

37- »3«) (

  :       

2 23 9 8 1 0 3 8 1− − + + = − = − −   

4 8 2
1 3

− = − =   

  :          

1 2 3= + =     :  

                  

      :       

1 3 4= − − =   

24 16= π = π½oÄHj   

   ) 3-  :      54  56(

----------------------------------------------     

38- »2«) (

 2 2 4 2 3 0+ + − − =       2 1′ −  

 2 2=    .3=        :  

  
22 2 23 4 2 3 3 0 4 0 0 4+ + − − = + = = −   

 4=   2 2′ ′= = =    .

  ′      090′ = .  

          090    

 :      

  
Δ

′ -   ′   

2 21 12 2 2 2 2 44 2= π − = π −   

   ) 3-  :  62  63(

----------------------------------------------     

39- »1«)  (

   3+ =        6     

       .        

 1=  2=              

 1  :  .    
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44 2= =   

4 2 1 32
+= × =¾£º p»l    

   ) 3-  :  62  63(

----------------------------------------------     

40- »4« )(

           4 5  

 2=    2     (  )    .4 

 :  .     

  

2 4 14 52
+= × = =¾£º p»l   

        7 1         .

      4 5  7 1   :     

4 55 1 4
4 7 3

−= = − ⎯⎯⎯⎯⎯⎯⎯⎯⎯→
−

jnm¬ïÂ¶ pH  ôi
KÃ{   

45 4 3 15 4 163− = − − − = − +   

4 3 31+ =   

   ) 3-  :  62  63(

  
  

41- »2«)  (
                  

3 0 3− = 4 1 5− − =  1 2 3− − =     .
                  

     :             

2 2 23 5 3 43+ + =    
   ) 3-  :  66  68(

----------------------------------------------    

42- »1«) (
           2 1 2− =    .

     2       32 8=    .   
   ) 3-  :  66  68(

----------------------------------------------     

43- »1«) (
          :       

5
1 5
1 4

=
≤ ≤
≤ ≤

                            
0

1 5
1 4

=
≤ ≤
≤ ≤

   

4
0 5
1 5

=
≤ ≤
≤ ≤

                             
1

0 5
1 5

=
≤ ≤
≤ ≤

   

  
   ) 3-   :68(

----------------------------------------------     

44- »3«) (

 :      2= 2=  

2=   .           

        :   3
2        .

    :    3 622 2× =.        

   ) 3-  :  64  66(

3-  
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45- »2«) (
     :    

2 2 3
4 2 1

= − − −

= − − −
   

3 32 2 3 4 2 14 4= − − − = − − −   

3 202 4 20 44 7
3 15 15 33 14 7

− = − =
= =

− = − =
   

   ) 3-  :  73  76(
----------------------------------------------     

46- »3«) (
               

  :  

+ + = − + − + −  

3 7 4= − + + = − −   
3 7 4 1 1 1 2 0 2 1 2 0 1= − − + − + + −     

1 6 3 3 2 1 13= − = −   

   ) 3-  :  73  76(
----------------------------------------------     

47- »1«) (

− = − =   

=    

            1≠ 

       .  
   ) 3-  :  69  72(

----------------------------------------------     

48- »4«) (
                    

           :  

2 2 1 2 2 1
1 1 21 1 2

= − α − α − − α − α −
⎯⎯⎯⎯→ = =

− − −= − − −
ÁpH¼U óo{   

5 1 1 12 2 2α = = − − −   

2 2 22 1 1 2 2 1 1 2 6= − − − = − + − + =   
   ) 3-  :  73  76(

49- »1«) (

1 2 1 1 11 1
′∈−

′⎯⎯⎯⎯→ = + − −
′

     

       1 2 3= −    :  

11 21 1 1 1 2
11 2 3 2 1 12

− −′ + − − ′= = = = −
− −

   

         :      

3 3 1
2 4 2 4
+= = − ⎯⎯⎯⎯⎯→ßHkL¶ pH ¾±ÅIÎ   

2 2 23 3 1 46
4 2 4 4= − + + =   

     46 23
16 8=   .  

   ) 3-  :  73  76(

----------------------------------------------     

50- »4«) (

   +          

          .             

          027      .       

  054   .  :      

1−
= − = = −   

       +       ( ) 

         63   0117  .     

  
   ) 3-  :  69  72(
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51- »2«  )  (  

  15             %15/1 

               

            .    

   )  -   :  84  97(

----------------------------------------------      

52- »3«  ) (  

     4   4= =     10   .

        :        

31
4 4 53 42

1 2 3 4 4 4 5 5 6 6
↓↓ + == =

    

3 1 5 3 2= − = − =   

   )  -  :    86  87(

----------------------------------------------      

53- »1«  ) (  

     72    +   20  .

                   

040   :     

0 0 0360 40 360 5 40 572 72× + = × + =   

8 8+ = − =   

    20
8

+ =
− =

  6=  14=    .

 :         6 1
72 72 12= =   

   )  -  :    74  82(

----------------------------------------------      

54- »2«  ) (  

                       

   :   

1 140 8 150 6 160 2 170 2 180 1 190
20

× + × + × + × + × + × <   

1 150 8 160 6 170 2 180 2 190 1 200
20

× + × + × + × + × + ×<   

159 5 169 5< <   

      168      .  

   )  -  :    74  85(

----------------------------------------------      

55- »2«  ) (  

21 24 504= × =   21=
¾Ã²»H  Í ]     

21 12 9− =  2 9 18× =    .       

 16            2  

         506       .

    20     :   .  

506 25 320= =     

   )  -  :    84  85(
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56- »1«  )  (  

             2  

         .   

 1 1 2 2 3 4 5 7 10 15 17   :   

1 2 31 2 4 10 17= = = = =   

      :    

  

   )  -  :    97  98(

----------------------------------------------      

57- »4«  )  (  

        :       

3 2 11 5 4 5− = =   

2 3 4 3 5 2 6 33 44 5 4 52 3 2 7
× + × + × + × +

= =
+ + + +

   

3=  

   )  -  :    84  85(

----------------------------------------------      

58- »1«  )  (  

2
01
12
2

σ =
σ = σ

σ =

¡  ¡  ù

¡  ¡
    

1
20 1 51
10

σ
= = = =   

1 20 20 5 100+ + = × =   

   )  -  :    96  97(

----------------------------------------------      

59-  »4«  ) (  

                  σ     

         σ        

    :      

5 6
5

= + =
σ = σ

   

2 2
2

1

5 5 5 2 56 6 3 6

σ
σ σ

= = × = × = = =σ σ σ
  

)  - :     96  97(

----------------------------------------------      

60- »2«  ) (  

                    

  1 ) 2=       (   :    

1 3

2

1 1 1 2 3 3 3 4 4 4 4 4 5 5 5
↓ ↓ ↓

↓
¾ºIÃ¶

   

3 1 4 2 2= − = − =   

4 2 2= − =       

   )  -  :    86  87(

  

1= 1 2=

2 4=

3 10= 17=
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61- »4«)  (

                   

 1 3 5         2   4   6 

   33 27=   .    

   )  -   :    21(

----------------------------------------------      

62- »3«  )(    

            :  

 :      9    .   

      9         .  

     82 256=  .  

 :      9  .         

    9           3  6 

       62 64=  .  

256 64 320= + =       

   )  -  :      20  21(

----------------------------------------------      

63- »1«  ) (  

≡ ∨   

≡ ∨   

∨ ∨ ≡ ∨ ∨ ∨   

≡ ∧ ∨ ∨ ≡ ∨ ∨ ∧ ∨ ∨   

≡ ∨ ∧ ∨ ≡ ∨   

   )  -   :     6  11(

----------------------------------------------      

64- »1«  ) (  

                

  :      

3 5 7 9
1 2 9

=
⊆

=
   

⎯⎯⎯⎯⎯⎯→∀ ∈ ∈¾ø¼ \¶oÄp  þÄo÷U   

   )  -   :    22(

----------------------------------------------      

65- »2«  ) (  

× − × = × − = × −  

× − × = × −    

           − 

  .      )   0= 

   (−        

 .    × − ×  :     

3 5 15× = × =   

   )  -  :      35  38(

----------------------------------------------      

66- »2«  ) (  

                :  

  
′′−   

1 2 3 1 2 2 3 4= −   

3 2 3 4 3= = = −à¾ÃeIº   

   )  -  :      26  34(

----------------------------------------------      

67- »3«  ) (  

             ′ ′= 

  :   =  .  
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1 2 1 4 2 3 3 4
1 3

↓ ↓
=
=

′ ′=   

      ) 1)  (3       (       

             )   2 (

      .            .

=          :  

  

             :  

1   (==   :   =    

2   (=    =   

3  :   (  

=′ ′ ′ ′ ′− − = −   

′
′ ≠ ∅

kº Hï´À  pH  Hk] »
   

4   (  

=′ ′ ′= =   

   )  -  :      26  34(

----------------------------------------------      

68- »4«  ) (  

′ ′ ′ = =   

′ ′ ′ ′ ′ ′− = = = −    

  1024    10  .  −  

 31     32    5  .  

    :          

  

110 5
5= − − =   

   5    5 102 =    .     

   )  -  :      20  21(

----------------------------------------------      

69- »1«  )   (  

         :  

∧ ∨ ∧ ≡ ∧ ∨ =   

          :  

∧ ≡ ∨ ∧   

≡ ∨ ∧ ≡ ∨ ∧ ∨ ≡ ∨   

         :  

∨ ≡ ∨ ∨ ≡ ∨ ∨ ≡   

   )  -  :      6  11(

----------------------------------------------      

70- »2«  ) (  

          .    :    

× = × =   

2 1 3 2 41 1 01 1

− = = ±
+ + =

= =
+ + =

= =
   

2 1 3 2 61 1 23 3

− = = ±
+ + =

= =
+ + =

= =
  

2 1 1 2
1 1 2 4
3 3

− = = ±
= = + + = ± + ∉
= =

  

   )  -  :      35  38(
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71- »2«)  (

       2 4 6 8           

1 3 5 7 9        4 5 401 2 =  

     .             

        .      2       

      :      .  

4 5 2 801 2× × =
·I¬kÅ ·I«Àj ·I§Ä

    

   ) 1-    :  127  140(
----------------------------------------------     

72- »3«) (

       5         5 120=   .

      3       .     

 3   :       

3 3 3 36⎯⎯⎯⎯⎯→ × =Sz«ÄI]

qÄI T¶ E Â{
      

       :        

  1120 36 84− =     
   ) 1-  :     127  132(

----------------------------------------------     

73- »1«) (

        .  5    

1 2 3 10   10 2525 =       .

1 2 3 10            11 

     :    

1 10 2 9 3 8 4 7 5 6   
     5          

   11                 

     2 2 2 2 2 321 1 1 1 1× × × × =  

     252 32 220− =     .  

   ) 1-   :    133  140(

74- »1«) (

                    

                  

          .  

8 6 4 2 28 15 6 1 25202 2 2 2 = × × × =    

   )  -  :  58  59(

----------------------------------------------     

75- »2«) (

    4                 2   

    :   

4 5 5 6002 2 2 =    

   ) 1-  :     133  140(

----------------------------------------------     

76- »4«) (

                

   2        .      

  7  9                  

    :    

  
  

  
     :      22 5 2 480× × =   

   ) 1-  :     127  132(

----------------------------------------------     

77- »3«)  (

                 

                     

    5   3  :         
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↓ ↓ ↓ ↓ ↓
− − − − −joÎ joÎ joÎ joÎ   

  

5 3 4 1803 2 2 2

↑

× × =
×

  

   )  -  :  58  59(

----------------------------------------------     

78- »2«) (

                    

          :    

   
  

  
  

  
  33 8 24× =   .  

   ) 1-  :     127  132(

----------------------------------------------     

79- »1«)  (

  :      

    :     (   :        

    
   (5   .  

  
   

  

  220 16 20 56+ + =   .  

   ) 1-  :     118  126(

----------------------------------------------     

80- »1«) (

      (        4       

  :  

4 3 121 2× =» HkÅïÂM   

         (          4   

   :    

3 4 3 722 1 × =   

   12 72 84+ =   .  

   )  -  :  58  59(

----------------------------------------------     

  
  

81- »4«)  (

1 23
1 2 3 2 2 318 3 18=+ + = ⎯⎯⎯⎯→ + + =   

    2  0  4    2 34 18+ =   

   5    .     

   )  -  :  59  61(

----------------------------------------------     

82- »1«) (

          2  3      

               .  

3
2

1
4

=  

  -  

2 2 4.SwH ®¶I{ ¾¨   Z»p  ³I¤nH  Sz«ÄI] IÀïÍMo¶  nj  joÎ  ³I¤nH  Sz«ÄI]

Â²Ii  ÁI] 3  JIhTº H
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4 3 2 1
2 1 4 3
3 4 1 2
1 2 3 4

   :  

      1                  

         1  4        

     .      2 3  4   .      

   )  -  :  64  67(

----------------------------------------------     

83- »2«) (

                 :  

1 2 3 2 1 3 2 3 1
3 1 2 3 2 1 3 1 2
2 3 1 1 3 2 1 2 3

1 2 3
3 1 2
2 3 1

= = =

=

   

          )            

        (         

       )           

                   

     .(    3 3×  6    

                    

     .»2 «     .   

   )  -  :  62  68(

----------------------------------------------     

84- »4«) (

             

 1 13 5= ×    

2 23 5= ×  

3 33 5= ×  

1 2 3
1 2 3

12
11

+ + =
+ + =

   

14 13 91 78 70982 2⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ × = × =Âÿ¹¶Iº  »  cÃdÅ  ÁIÀïJH¼]  jHk÷U   

   )  -  :  59  61(

----------------------------------------------     

85- »3«) (

                   

  9           .5      

  :      

0 0 8 8= ⎯⎯⎯⎯→ + + + = + + =ÆoÎ  ¢Lö )  

8 3
8 3 1 10 453 1 2= =

+ −
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ = =

−
Âÿ¹¶Iº  »  cÃdÅ  ÁIÀïJH¼]  jHk÷U   

 5 5 8 3= ⎯⎯⎯⎯→ + + + = + + =ÆoÎ  ¢Lö )  

3 3
3 3 1 5 103 1 2= =

+ −
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ = =

−
Âÿ¹¶Iº  »  cÃdÅ  ÁIÀïJH¼]  jHk÷U  

  45 10 55+ =   .  

   )  -  :  59  61(

----------------------------------------------     

86- »1«) (

      :  ( )     

2 1 2 2 1′ ′′= + = = +   

2 1 2 2 1 10′ ′′⎯⎯⎯⎯→ + + + + =¾²jI÷¶  nj   

4′ ′′+ + =  

4 3 1 6 153 1 2
+ −

⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯→ = =
−

Âÿ¹¶Iº  »  cÃdÅ  ÁIÀïJH¼]  jHk÷U   

   )  -  :  59  61(

 ----------------------------------------------     

87- »4«)  (

      :  

1 2 3 1 2 33 10 4 10≤ + + ≤ ≤ + + ≤
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      1 2 3 10+ + ≤     .

      ) 3             (

      1 2 3 7+ + ≤   

  :    

0
1 2 3 7 ≥+ + ≤ ⎯⎯⎯⎯⎯⎯→

¾²jI÷¶  ¾M  ®ÄkLU
   

7 4
1 2 3 7 = =+ + + = ⎯⎯⎯⎯⎯→   

1 7 4 1 10 1201 4 1 3
+ − + −

= = =
− −

   

        1 2 3 3+ + ≤    

              . 

1 2 3 1= = =     .120 1 119− =   .  

   )  -  :  59  61(

----------------------------------------------     

88- »2«) (

              2=  3=   

    .  

2 3 1
3 1 2
1 2 3

=   

                .   

2
3
1

=   

                       

         22 33  11    

           .        .

12        3   :     ( )   

2 1 3
3 2 1 3 2
1 3 2

= = =   

 6= =    .      )    
22 31 13
33 12 21
11 23 32

= (  

   )  -  :  64  67(

----------------------------------------------     

89- »2«) (

     4 4×   1  4    .  2 4≤ 

  2                

 2=       .      :      

2
4 3

4
3 2 4 1

   

 1=  3=   :  .  

4 3 1 2 21 4 2 31 1 62 1 3 4 33 2 4 1

=
= = + + =

=
 )  

   (  

1

2

4 1 3 2
1 4 2 3 62 3 1 44 1 3 2
3 2 4 14 33 3 4 4 1 3 2

3 2 4 1 2 4 1 3 71 3 2 4
3 2 4 1

=

=

⎯⎯⎯→ + + =

=

⎯⎯⎯→ + + =

   

   )  -  :  62  63(

----------------------------------------------     

90- »1«) (

       .          

           3       .

)  1 2↔  1 2↔(    3     

 1        .       

   )  -  :  62  69(
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91- »2«) (

)     2         (
          )         .2   (

14 8 12 1 1 8− − =    .80      
      100  )  2        (

 .    
   ) 3-     :  91  92(

----------------------------------------------       

92- »2«) (
               
   0 1   .    

1 2 0 1
1 1 1 22 2 0 1= += + ⎯⎯⎯⎯→ = + +   

340 201
1

= =
= ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

R¼Å

R¼Å

   

)1          (2 2 2340 0 1 2 20 2 2 320 32+ = + + − =   

2 22= −  

340 202
2

= =
= ⎯⎯⎯⎯⎯⎯⎯⎯⎯→

R¼Å

R¼Å

   

)2              (2 2 2340 2 20 360 2= − =   

1 2
2 2 2

32360 320 32 0 840⎯⎯⎯⎯→ − = = =   

360 0 8 288= × =    22 360=⎯⎯⎯⎯→   

  
   ) 3-     :  90  93(

----------------------------------------------       

93- »4«) (
              

  :       

  

         11        
     2          

 :  .  

  
00 0 0 0 015 45 90 2 30 15+ α + + α = α = α =   

   ) 3-     :  93  94(
----------------------------------------------       

94- »3«) (
     ( )    ( )        

                    
        .     

                   
  )             (.

                .
             .    

          .        
  .      

2 1
2 1 2 1

μ <μ
=

= ⎯⎯⎯→ >
μ

   

2 1
2 1

2 1
>
=

λ = ⎯⎯⎯→ λ > λ   

             .    
   ) 3-     :  94  95(

----------------------------------------------       
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